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005 | X i3 i) 729 816 862 1,678
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082 W E Z— T H 32 756 90 846
083 e =TH 158 159 171 330
091 filb 3% BT — T H 73 76 93 169
092 L BT =T B 62 231 373 604
101 A E— T H 98 103 93 196
111 LTEHBE—TH 120 138 123 261
112 LTEHE_TH 83 70 59 129
113 LTEHE=TH 107 101 122 223
114 LTEHEMTH 150 140 160 300
115 LTEHATH 141 107 153 260
116 LTEHBATEH 144 126 127 253
117 LTEHETH 127 141 161 302
118 LTEH/NTH 144 159 141 300
121 EBFH—TH 73 55 74 129
122 ERBRFHI_TH 50 66 61 127
123 EBFH=TH 71 69 84 153
124 EBFHMOTH 73 70 51 121
125 EBFHEATH 88 103 91 194
126 EBFHATH 158 130 130 260
127 EBFHETH 141 92 151 243
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